When a listing does not agree with a control account.

[image: image1.png]Alfred Ltd's list of individual debtors’ balances, which totaled R10 440, did not agree with

the debtors control account at the end of March 20.7. Upon investigation, the following

errors were discovered:

(a) The list of debtors’ balances had been under cast by R150.

(b)  Goods to the value of R60, bought by client Jim Jones, were inadvertently debited to
Jim James’s account.

(c) Sales invoice number 120 for R290 which was entered correctly in the sales journal,
was entered as R920 in N Nina’s account.

Which one of the following alternatives represents the correct debit balance brought down
on the debtors control account of Alfred Ltd at 31 March 20.7?

1 R11220
2 R10020
3 R 9960
4 R 9660
5 None of the above




You will get this type of question and if you do it step by step it is easy.  The same logic applies whether they are talking about creditors or a debtors listing – so remember that.

For ease I am just going to refer to creditors and the creditors listing and journal – but you can replace creditor with debtor and the same logic applies.

Now just remember that a listing is only literally that – it is a list of every single creditors individual account balance taken from the creditor’s ledger.

Remember that the control account is in the general ledger and is an asset account if it is debtors and a liability if it is creditors.  (Debtors owe you – you owe Creditors).  The control account has totals posted to it from the purchase journal etc etc. 

 The creditor’s ledger has a separate page in it for each creditor and that is their individual account.  In that account the individual purchase and payments for that particular creditor are entered and then each page (account) is totalled at the end of the month to give the outstanding balance for that individual creditor.  All those balances are then put on one list and that is the creditors listing.

The listing should always agree with the control account – but in a manual system it rarely does the first time.

Also remember that if a total is under cast it means that the total is LESS than what it should be if it was added up correctly.  If a total is over cast it means the total is MORE than what it should be if it was added up correctly.
Q5 tells you straight away that the total of the listing is R10440

It then goes on in part (a) to tell you that the total on the listing is under cast by R150 – you are getting no prizes for figuring out what you have to do
If you look at part (c) of the question – this tells you that an invoice was correct in the sales journal as R290.  Because it was right in the sales journal it would have been correct when it went to the control account – so the control account is fine.  BUT it tells you that in N Nina’s account it was entered as R920.  Because they are telling you it was entered in her account – that means that it would affect the listing because the listing is the balances of each individual debtor in this case.

So it means that N Nina’s account is actually R920 more than it should be so we have to take the R920 off.  BUT do not forget that we then have to add to her account what the correct invoice would have been and that is R290.

Now I have deliberately left section (b) to last because by now you should be able to work out exactly what difference this section makes to the listing as a whole.  
So start with the listing amount they gave you which is R10440 and then make the necessary adjustments and you have got your answer.

Amanda
